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Rounding Decimals
How can you round decimals?
RGUAing replaces one number

with another number that tells

about how many or how much, 55
ind 2.36 to the nearest tenth.
g ook 15236 loser 023 0r 247

T (O©) i
Do you know HOW? ! Do you UNDERSTAND?

{ @ 7. Reason Toround 745810 the nesres;
hundred, which digit do youlook at
Whatis 7458 rounded to the nearest

In 1 through 6, round each number to the
place of the underlined digit.

116 2.561

2 hundred?
213 2l 8. Arunner s running on a track with
markers every 10 meters. f the runner
5. 1,652 582,062

has run 368 meters,is she closer to the
360-meter marker or the 370-meter
marker?

' Independent Practice

In 9 through 16, round each whole number to the place of the underlined digit.

9. 677 10. 4526 1. 12064 12,573

13. 34739 14. 59304 15. 930,998 16. 748,397

In17 through 24, round each number to the place of the underlined digit.
17. 758 18. 0758 19. 64382 20. 0472

21. 84732 22. 73829 23. 5028 24. 23.009
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Find the digitin
the rounding place.
Underline this

digit. Look at

the digitto the

i i

s i r rse o Oropthediisto

o i i hecio Serigh ofthe

igit alone. T e
Since -5,

right of the
rounding place. ot lf” 236 0undsto24.

[ Poblmsoing (C RS
PRACTICES

25. The world's largest aloha shirt measures 26. In the first 3 quarters of a basketball
4.26 meters around the chest. Round game, a team scored 17,25, and
426 tothe nearest ones place and to 13 points.Their final score was 75
the nearest tenths place. How many points did the team score

i the fourth quarter?.

27. An African Watusi steer's horn measures 95.25 cm around. What
{5 95.25 when rounded to the nearest tenth? Nearest whole.

number? Nearest ten?

Precise In a recent year, the population of linois was 12,653,544.
Whats that population when rounded to the nearest million?
C 12600000 D 13000000

@ 2.

A 10,000,000 B 12,000,000

cober 15,1997, was 763.03 miles.

29, The world land speed record set on Oct
the nearest one?

per hour. What s this speed rounded to
30, Roberto and Sandy are playing a rounding game. holfway

Roberto says the number 634. Sandy rounds s §

Robertols number to the nearest hundred. ﬁ-'—H*""‘"‘M o =1

What number does Sandy say? Use the number

line to help.
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and Differences
How can you estimate sums?

Students are collecting dog food to give
t0an animal shelter. Estimate the sum of
Pounds collected in Weeks 3 and 4.

Estimate 22813,

Round each number to the nearest Substitute compatible numbers.
Wwhole number,

228 —» 228 —» 25
=g ~139 —» - 15
10

228 13.9is about 9. 228~ 139isabout 10.

{Explain i1

1. Which estimate s closer to the actual difference? How can
you tell without subtracting?

2. When is it appropriate to estimate an answer?

Guided Prac PRACTICES
Do you know HOW? Do you UNDERSTAND?
In1 through 6, estimate the sums and : © 7. Communicate Give an example of
differences. : When estimating is useful.
1.49+22 2.8-18 :

;8 Inthe example at the top, the students
31794 277 2o : collected more pounds of dog food in

g week 4 than in week 3, Estimate about
5 238k a o ; how many more pounds,

Qi -,
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sound each addend to the
R 0 the nearest pound,

Substtute compatible numbers.
Compatile numbers ar easy o
257 = o comebie ) t0add.
+345 — 1 35 s
2 C

237+ 345 15 about 59, The student

S5 nts 237 1 34515 about 60.The students
Collected about 59 pounds of dog food in colecad avout 6 pounds ot o foodin
Weeks 3and 4. ey d: poundggscog,

independent Practice \

Estimate each sum or difference.

: 9 79 10. 788 1. 103 12, 2488
+32 -~ 572 - 798 132

13. 64 1. 837 5. 51 16, 7889

+48 488 ~18 + 6455

17. 184 8. 847 19, 3856 20. 7647

- 58 -379 - 2357 - 369
21.3205-2812  22.93-46 23.1052+963 24, 149-51

Estimate each sum or difference.

5. 29 2. 728 27. $133 28 $1299
+39 =13 + 343
2. 81 30. 38 N 679 32. 7811
27 41 + 8134 + 4603
79 +33
33.77.11-8.18 34.354-78 35. 89.66 - 279 36. 999 - 279

37, 22584 492 + 17, 38 675137 %39, $9.10 + $4850+ $599
-
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Mental Math

How can you use mental math to add and subtract?

Properties of addition can help you find the.
total cost of these three items.

You can add two You can change the.
decimals i any order,  grouping of addends.

$11.45 +$339 = $339 ($1145 + $339) + $955
$11.45 + (§339 59557

CUTTIEEARIY How can you use compensation to add

or subtract?

With adjust one or both numbers to make the computation easier;
then compensate to get the final answer:
Use compensation Use compensation
tosubtract. toadd.
Find 4.25 - 308 mentally Find $3.47 + $4.35 mentally
k) 425 - 310~ 115 sk $350 -+ 3435 = $785

0020 Compensate, Add003  Compensate,

muchwos  add back002 tokeaway 0.3

subtracted

$347+ $435 - $7.82

425-308=117

(Explain 1

1. In the first example above, why is the answer 0.02 greater
than 1.152 In the second example above, why s the answer
0,03 less than $7.857

2. The equation 0.+ 05 = 05 s an example of the Identity.
Property of Addition. What is the sum when you add zero.
toany number?

M
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| Why it Works

e Commutative and Associatie
five Properties Commutative Property: change the order

okeiteasy 0add $11.45 1 339
E
2 (511,45 + $3.39) + $9.55 = ($339 + $1145)

§11:45and $9.55 are.
+5995

hese are numbers that are easy to compute

ental ;
el Associaive Property: change the.

045 +0555 - 1,00 grouping
214339-2439 (63394 §11.45) + 5995 = 5339+

The three items costa total of $24.39, Sl

| Guided Practice” @ PRACTICES

Beyou kaow HOWR Do you UNDERSTAND?
In 1 through 6, use mental math to add @® 7. Communicate If9.8 - 5.291s changed
or subtract. 109.8 - 53 = 4.5, what must be done

1045 t0 get the exact answer for
98 - 5.297 Explain.

8. Jim earns $22.50, $14.75, and $8.50

121409412 2.35+46404

3.19+34 438415
‘on three different days. How much did
BNy o G he eam i all? Use mental math to find
: the sum.
Independent Practice
n9 through 26, use mental math to I T o
add or subtract. forcompatblenumbers.
9.66+18+22 10.97+3+63 M. 22446444
12,237 +1.95+23 13.399+3.11463 14, 575+ 466 +425
15. 966 + 1.48 + 34 16. 299+ 14+ 631 17.306+ 1199
18, 1453 - 98 19. 49 + 807 + 9.1 20. 68-29

21,1003 + 58+ 82 22, 7.65+13+635 23. 2525 +46+475

875-226 26. 99895

24, 66.5 - 24.98 25.

B ks ol cow Set AN pageS2.
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s Use the Equal

® 27. Look for Patterns Use !
Aditions Property shown at the right
0 find each difference mentally. Explain
how you found each difference.

a67-29 b 5456 $1.98

Precise Use mental math to find
how many points the football team had
scored after the frst three quarters

© 28

© 29, Persevere On three different days at
herjob, Sue earned $2750,533.75,and
$49.25.She needs o earn $100 to buy a
deskfor her computer, The cost of the.
deskincludes tax. f she buys the desk,
how much money willshe have left over?

31. Three different gymnasts had scores of
8.903,8827, and 8.844. Which of the
scores s the greatest?

3. André buys 12apples at $1 each, He.
U585 3.€oUpon for $1.50 off the total

purchase. How much id Andre spend
on apples?

A $1050
B $11.00

€ $i150
D $1200

‘Equal Addtions Property:
Subract $3.69  $1.99 mentall

199, Ifthesamenumber
e
#0901 #9001 Giferencels th some.

$370 - $200= $1.70

30. ACD shelf can hold 50 CDs. Jill has
27CDs. She plans to buy 5 new ones,
Each CD costs $9. After she buys the
new ones, how many more CDs will
the shelf hold?.

© 32. Reason Which shows the Associative

Property of Addition?

A 13410=10+13

B 155+0-155

€ B+10+7-3+(10+7)
D (3+10)+7=(10+3+7

34. Which number, when rounded to the
nearest ten thousand, is 70,0007

A 6499
B 7499
€ 64985
D 74999





